— > =z =1 =, 7 (gt
TREIMSHRE=2)T (HBRBEEESMERER) R 23%F 12R 9H (%)
BITEHEES PM1703MO-1
B A E 4
N:= SHIl= 8B
=22 8 T OB & |AEEz BIEME(uSv/h) | BIEME(uSv/h) Iﬁ;ﬁrﬁﬂ? & =
BES1m g&2m |(#hE1em #tE1m
1 |FRETE—/NER 1385415 0.14 0.15 0.15| 4 10/ 1485 BERRLAR T
2 |RETEE /N 9R%59%) 0.12 0.12 0.12| & 9/158% % . 9/2 TR BERR 4R T
3 |RHETE = /NVER 1085509 0.12 0.31 0.29| £ 10/148 & IRBERR IR T
4 |EFINERR 118125 0.09 0.09| 4 |10/245BERRLAR T (9/BIRBERREAR T)
5 |KZE/NER 1585455 0.12 0.10 0.10| 4 10/ 1485 BE - IR EPR LR T
6 |ARHE/NER 1485599 0.23 0.29 027 2 |10/248BERPR T (8/20REKRLET)
7 | BMEE—NER 138305 0.12 0.12| & 10/31 R EREHR T
8 |RMHEZINER 1665105 0.13 014 £ [10/14ERPET O/ NMREBRRRT)
9 |[RETEE— 2R 105415 0.14 0.18 0.16| & 10/ 148X ERR AR T
10 |[RETEE Z iR 9RF30% 0.13 0.12 0.12| & 10/ 148 BERR IR T
1 |[RETE =R 1585185 0.10 0.13 0.13| 4 [10/31REERLER T (9/2KERKRLET)
12 E*EFEFI$$§ 11E¥'f35§g\ 0.13 0.23 0.21 ,;ﬂg 10/24ERR R T (N TRERBRERT)

13 |EFENHE 1385185 0.12 0.12 0.14 014 #& [10/24EBERRRT (9 THEBRERT)
14 | KREHHE 1504534 0.14 0.14 0.14 0.14| #& 10/ 14E ERREHE T

15 [KE$HE 14855059 0.10 0.10 0.20 021 & 10/ 1 EERERT

16 |[BHE—4#E 1185135 0.12 0.13 0.22 022| & 10/24ERERREART

17 |AHE Z4hH#E 1185484 0.13 0.14 0.28 0.28| 4 |10/14EBERERT (9/SEEBRERT)
e ) |
18 | BT ERER 8H52%) 0.12 0.13 0.26 025 & 10/14ERERR R T

19 |[EHhELRER 11850145 0.21 0.21 0.28 0.25| & 10/ 14EREREART

20 [KBULWVRBEE Om22%> 0.12 0.12 0.12 012| & 10/4EERERT

1 1 e e
21 |[ONLEEEEE2— | 9BF39% 0.15 0.15 0.52 042| & 10/ 14 MRERT

22 | KHAEEFE 42— 1585004 0.70 055| 4 10/ TEMBREET

23 | RELEEFEV5— 15853145 0.11 0.11 0.32 0.30| & 10/5MBRERT

24 B FEEEE VS — 13852849 0.13 0.13 0.48 041| 4 10/ 128 MRERT

25 | AMEEFE U 5— 11852859 0.13 0.13 0.94 0.75| & 10/13MRFIRT

26 |IMEYEEZE 42— | 1485000 0.23 0.23 0.98 073 & 10/ TEMBRERT

27 |TRXIL2EE 1085214 0.12 0.35 035 & /19T

28 |hREELE-ERI R S2—|  9BE505 0.14 0.63 055 & 8/ TEMBRFIRT

29 |1EEE 146%36% 0.16 0.89 0.73| #& 8/TEYIBRERT

30 [EDF T=—AO—IELES| 1085335 0.73 0.66| £

31 |EhrEREL SRS 1485104 1.01 0.94| #

32 |MEAXREERE 9B%03% 0.42 043 &

33 |HES 1085284 0.45 0.42| 4

34 |BTZRSE IS 108%06% 0.41 040( #&

35 [/MIBTIAEEE 1685184 0.75 058 &

36 |t HiE om114 0.38 0.35| &

X INER. HHE. RERORANADM 1M IIEI50ecm 1ET 5,
X T4 FENERIT7.8 AEHE— %=
BEGFEZEOESIVTHEENMDRHRTT,

—IhERIT22 KEEEZRE U 2—]1E.



